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1. RENEE
fE B RIEEE 461,956,992 81,690,767 0| 543,647,759
MBEEST 461,956,992 81,690,767 0| 543,647,759
2. BEEE
(1) EARBAE
fE B RIEEE 33,846,000 0 0 33,846,000
HABESET 33,846,000 0 0 33,846,000
(2)BFTEEE
361,964,231 1,259,686 363,223,917
fE B RIEEE
BEEESST 361,964,231 1,259,686 0] 363,223,917
B)FDDOETEEE
fE B RIEEE 15,155,286 1,489,424 0 16,644,710
ZTDMDOEEEESET 15,155,286 1,489,424 0 16,644,710
BEE&ESET 410,965,517 2,749,110 o] 413,714,627
BERSET 872,922,509 84,439,877 0] 957,362,386
I BEDE
1. REpaE
fE B RIEEE 79,577,714 4,105,500 0 83,683,214
RBEESET 79,577,714 4,105,500 0 83,683,214
2. BIEEE
fE B BIEEE 111,981,814 0 of 111,981814
EERESE 111,981,814 0 o] 111,981814
=L EN= 191,559,528 4,105,500 0] 195,665,028
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1. ¥EE EBRETE
BRI E 33,846,000 0 0| 33,846,000
e E ERRET E A 5T 33,846,000 0 0] 33,846,000
OLERBEADIEHEE)|( 33,846,000) |( 0 )|( 0 )[( 33,846,000)
OLRHEEE~NDIEHER)|( 0 )|( 0 ) |( 0 )|( 0)
2. —HRIERREAE
hE BRI E 647,516,981 80,334,377 0| 727,851,358
—RRIERREAEE A &T 647,516,981 80,334,377 0] 727,851,358
OLERMEADITEER)|( 0 )|( 0 ) |( 0 )|( 0)
GOLHEBEEEADIZEE)| (239,012,698) |( 1,259,686 ) |( 0 )[(240,272,384)
IERKEL E & 5T 681,362,981 80,334,377 0] 761,697,358
BERUVIEKRIAESE 872,922,509 84,439,877 0] 957,362,386




